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Q.1 Ra-TeaHA | fora=ft wiza arfaat (Banis) €7

Ans X A.8719
X B.23d3
o C.495
X D637

Question ID : 1034358991
Status : Answered
Chosen Option: C

Q.2 <Rl |7 320 2023 # (WAt 2022 a Y fR&fA & o178R) siazfdha si<ifus afafa Hi aswar=t

e aTeT 87?

Ans X A STOH

" B. gz

X C. s
< D. AT

Question ID : 1034359014
Status : Marked For Review
Chosen Option: C

Q.3 fa=fafaa 7 9 forge vaa gad sifdes glar g2

Ans o A TR
/< B. Rt &1 I
X C.ur
75 D. fee=

Question ID : 1034358995
Status : Answered
Chosen Option : A



Admin
Stamp


Q.4 2008 # fore1 g} wruTstt it AT T &S AT ur?
Ans X A I%pd ofk afaa

< B. 9%pd SR Ferared

X C.3fersiR was

o D. 7S R ey

Question ID : 1034359010
Status : Answered
Chosen Option : B

Q.5 Wt 2022 ¥, fa= wsht fAder damora ____ R ugen fta Wi fReresr «f=a faram)
Ans X A SITdeh

75 B. HgT™RA

o C.uads

< D. IH™goT

Question ID : 1034358992
Status : Answered
Chosen Option : A

Q.6 fa=faf@d d @ ot ot et ar=f 2022 q IC C afgen fay wu & sfagra & gad 1w
fardhe @7 areht Aearst a9 mft?

Ans X A gTHd BR
< B. &fq Herr
< C. fareh o=
o D. oA eardt

Question ID : 1034359015
Status : Answered
Chosen Option : D

Q.7 f=fafE@a d @ &ta ot armft see g & a8 urd st 82
Ans ¢ A W91 &1 SgE

X B
X C.mg
X D.fg

Question ID : 1034359000
Status : Answered
Chosen Option : A




Q.8 fam=fafaa & & ot fordhe & sfagra d vem Aoft Aw & fagwr ras 917 aret ugs f@erdh

T1?
Ans X A 9gd HAR
75 B. YAy 3
o C. arfchga I
< D. 21fy SRR

Question ID : 1034359017
Status : Marked For Review
Chosen Option: C

Q.9 f=fofEa d & frs wradt 2022 # WIRa & uga AT AT FRET GHadS & w4 d A1fAd

ferar mam ar?
Ans X A gl st
< B, yaq
o C.Sfl. it R
2 D. &R g

Question ID : 1034359009
Status : Answered
Chosen Option: C

Q.10 1930 & T ATAT Y H¥ A gt A1 AGTHT Mieht & WIwor aht G & forg for 9 hae az

Qepd §g A7
Ans X A ardt

X B.7ar
< C. et
& D. GreRHd

Question ID : 1034359004
Status : Marked For Review
Chosen Option : D

Q.11 Hure faghy &a gom ar?
Ans X A.1845-46

«” B. 185556

25 C.1875-76

X D.1865-66

Question ID : 1034359005
Status : Answered
Chosen Option : A




Q.12 fa=fafae 7 @ forw wsa 3 Hifvgr Aeraa ardiata Afaafg 2021-22 § geul o fR{ae

Sfrar?

Ans X A deRTAT

« B.gRamn

X C.3dan

< D. e

Question ID : 1034359016
Status : Answered
Chosen Option : B

Q13 ________ 3 heer<T & ai=T ATATAT ht TATYT hY|

Ans o A faffgma sifdffam 1773
X B.arET aifdfge 1853
< C.argw srfafae 1833
< D.fucw fzargae 1784

Question ID : 1034359013
Status : Marked For Review
Chosen Option: B

Q.14 2022 & FSTE & AR, A -AIsw Tl & forg trgw nifer arfs Areeem= & aga
2022-23 # foraa fepatehtez dfta et o1 faam forar srem?

Ans X A.30,000 km
«” B. 25,000 km
7 C.35,000 km
< D. 20,000 km

Question ID : 1034358994
Status : Marked For Review
Chosen Option : A

Q.15 f¥yefir________ & i T fearera & fewd &l usie ferrea & & u | SI1E1 Sirdr 8l
Ans o A HddS

X B. A&

X C.et

X D. gier

Question ID : 1034358999
Status : Answered
Chosen Option : D




Q.16 fafdres Qar wfdemzor sifdfaran, 1987 i fora enr & aga it Ak sreTera 1 At farar
ST 872

Ans X A 9R122-E
5 B.URT22-A
o C.9R122-B
25 D. 9r122-D

Question ID : 1034359011
Status : Answered
Chosen Option : B

Q.17 ferifar Anifae Aefaf@a d d fra oo A fRa g2
Ans X A HERE

< B. IR

& C.3gwr

«” D. uf st

Question ID : 1034358988
Status : Answered
Chosen Option: D

Q.18 #gTadY, METast, oo SR st sieft ady afeai A ________ ae gz g2 el o1 fantor frar g1
Ans o A BRIHSA

< B. @&
X C.3<nd

25 D. ATER

Question ID : 1034358998
Status : Answered
Chosen Option : A

Q.19 anf¥er wderor 2021-2022 & TR, TdaR 2021 & 3id dh, WRA gfAaTdH ________ qaa 371
fard2ft qaT YiER URe Tl

Ans X A @I
/< B.uf=at
F C. e
X D.d=r

Question ID : 1034358993
Status : Answered
Chosen Option : D




AT g fordt 82
Ans o A S S

< B. IS T
< C. ofig afean

£5 D. SATRTA T

Q.20 f=fafEa & @ fFes ' wided: 3 i oife dua de g geimatd g i fafereta et (The
Founders: The Story of Paypal and The Entrepreneurs Who Shaped Silicon Valley)'

Question ID : 1034359008
Status : Answered
Chosen Option : B

Q.21 T ATHHT & TR HGTT A T ST-H FHgl g q1?
Ans o A IWEIC

< B. @R
5 C.hYR
X 0.

Question ID : 1034359003
Status : Answered
Chosen Option : A

Q.22 fa=fefada d 9 w17 91 g Wi 82
Ans X A. fedHiamr

< B. ifafdms

o C. wisHiTeaH

Z< D. g3t

Question ID : 1034358997
Status : Answered
Chosen Option : B

Q.23 M| & Gfaen= &1 ugen denty= sifdfgmad _____ # Ay gal
Ans o AL 1951

X B.1954

2 C.1955

< D.1953

Question ID : 1034359012
Status : Answered
Chosen Option : A




Q.24 #eA U & ASAUT HI WI$ U 3 heast 20227 ________ ERIE! T I T I
famam

Ans X A. 509
«” B.48d
X C.429
< D. 453

Question ID : 1034358990
Status : Answered
Chosen Option : B

Q25 ________ forergt (fRrgroft) & = A frgeh 1= arelt uget afger 0
Ans X A TefeRT

25 B. USIERT
& C. AgTUSIUfd Tiiaet
< D. wufFET

Question ID : 1034359002
Status : Answered
Chosen Option : D

Q.26 fAm=faf@a 7 @ ford weadt 2022 d Afdw g A23 & Fis ddus & w0 & Arfaa farar mar ar?
Ans X A. iR @™

< B. GeMHE @M
X C. 3% srcft @m
o D. AETE @H

Question ID : 1034359006
Status : Answered
Chosen Option : D

Q.27 fawrerdt v d '@ Vs af vwR B FA AR ________ & &9 § 11 v 21
Ans X A gfm

« B. &

X C.pad

< D.gfgan

Question ID : 1034359001
Status : Answered
Chosen Option : A




Q.28 famfafaa & @ farg d@ftasw A 1999 7 wiza =1 Sftar ar?

Ans X A gRuame RfEan
2< B. tufed Ragar emf
o C.ufea 3 iz
/< D.3Wg fIfdeeg @™

Question ID : 1034358989
Status : Answered
Chosen Option : B

Q.29 Fra ugwor fAgor a1 & SrqaR, AT ______

IR S1ET JRATT agar & forg forde g1
Ans X A.228
< B.253

& C.25
X D.325

ATgshIHIER TeR1R & HUT AT WTRY &t

Question ID : 1034358996
Status : Marked For Review
Chosen Option: B

Q.30 fA=fafaa 7 @ frd wradt 2022 & gd9m ifdRar & forg S1871 iga wied siazfdia fhen

HEtea qREhTR fAe?

Ans o A R g
X B. STISHT R
X C. g meghn

< D.fgg a @

Question ID : 1034359007
Status : Answered
Chosen Option : B

Section : Reasoning

Q.1 TSI hT OR UIHATHE & 91% 341X 30 m &, St fa iRt oot & IwR A 40 m g1 wak fA, awor
3197 R ¥ TS YT & 3R GUIHATHE-hithl Fe A3 & TATATGR GSh U Il & 3R
3q gIfgft ok g3 @ uget 50 m AT 81 IE I 20 m TAAT @ 3R AT U U=t &1 AT
& WR 9 Sithl 9 SR UHATHE & AISS & g Ff dieft g& & =g a7 siaz@?

Ans X A.37.7m
X B.50m
& C.207m
X D.707m

Question ID : 1034359043
Status : Answered
Chosen Option : A




Q.2 g FyET ok sl it earagde ul ag w1 gU foh Fual d § mE A ww @, v
& ag AT ®9 @ w1d a3l 9 {3 udfta gt g, fAofa & far fe mg fAswut & @ ot @/

frsenef s a1 ATfdher &0 § SITERUT TvaT/d 8/81
HY:

oft 49, SR E|

gt g, ATdARE

gaft errdaR, AR &1

forsenf:

1. gt R, AT E|

Il. g9ft R, a7 8l

1. af a1, a9 €1

IV. gt ATz, ROR |

Ans X A 7 st | SrgERUI AT 8 ofR T8 1| STgERUI T 8|
2< B. g s || STgERUI Rz 8|
o C. HTd s | STERUT AT |
< DI SR IV SHT e SrgeRuTah<d 8

Question ID : 1034359032
Status : Answered
Chosen Option: C

Q.3 fa=fafEa sma 4, sngfaat aafwal S fafea Aforaf @t gufd § sikfafvaasi d &

] eafwral i Ter gerfdt &)
Fesearchers ———— o

§

/,__% 14 \3 s Married Persons
9 |3

Crickit Faid _y_/ J 16 \
17

Researchers - rteeraf
Married Persons - feenfga &t
Teachers - far&res

Cricket Fans - fehéhe uigeh

feraa feranfea entuerat ar @t forehe uRiaeh € ar farers €, Afer i1 a8t 82

Ans X A.27
o B.29
X C.45
X D. 40

K I
8(15 //13 \ 18 \§\I" —a—Teachers
1 s g

Question ID : 1034359040
Status : Answered
Chosen Option : B




Q.4 fag g faereul # & 9 sr&R-uyg &1 99+ Hiforg st fA=fafla siaen | ver farg (7) & ==
3 3TQ |
MILK, OFHO, QCDS, SZZW, ?

Ans X A.QWDS
o B.UWVA
7< C.UCDA
< D.QDWS

Question ID : 1034359018
Status : Answered
Chosen Option : B

Q.5 fag g frereul # & 39 Hwar @1 9g4 & St famfaf@a saer d us fRig (2) & fawrfa &=
Hehell 81
9,16, 34,66,134,?

Ans X A.243
X B.246
X C.234
o D. 266

Question ID : 1034359035
Status : Answered
Chosen Option : D

Q.6 39 faerea &1 9g= ARG fraa AR srer-agg @ ag) Tau g, St gOR HeR-THg &1 ugat
STER-TE | &l
DLJY : AOGB ::QTDW :

Ans X A TWGZ
2< B.NQAT
& C.NWAZ

2< D.NAWZ

Question ID : 1034359024
Status : Answered
Chosen Option: C

Q.7 fafem, dener, 3pe, R, gfaa ok Rera g a9 gz swr 6t 8ilk i@ @l 43 &1 gfae
3R faera wen A g1 fAfae ok darst Sk uR &1 3ga, FAfas & ardf ok 48 81 demvet & arft
3R AT AT 8?7

Ans X A fawa
< B.g@a
X C.3ga
o D.Temn

Question ID : 1034359029
Status : Answered
Chosen Option: D




Q.8 S1a gdur @ fA=ifeRa R & ergumR PQ U <@r mar g, &t fag g water @ gdor 7 fafda
Tl ufafda =afaa &3

P
LDGISTICSI
Q

Ans @A 2DIT2IDOU
XB gDlTIZIDOJ
Xcrocgcieiirce
XDTOQI2LIC?2

Question ID : 1034359047
Status : Answered
Chosen Option : A

Q.9 wurdl, fa=ftar, Tur, i, garar, T i Rig ara ggferai & Sit e 2R u 5qe dhg Y
3R rf¥g@ gl &1 &1 S1Rig, waT & ITd g AT U g a1 Far-1 31 fFem hY usiwh
&1 UT g1 Farr i ugih @mr ag @1 foetar oitw wur i gt gord g1 & 7 Sraerd &
3R u, fA=fafaa A @ T a1 sy a8 @2

Ans X A 3RIg! 3T wuT ofR Yot & T H S3T 8
X B. FaT 3R o 6 e R 21
o C. &1 8Yeh Fam 3R Uore! & 9 A 38T 81
< D. T Eiep 3 ofi o) & i H 3 21

Question ID : 1034359030
Status : Answered
Chosen Option: C

Q.10 f&Q g weMAT 3iiR frseput st eaTIqdes a1 ag A4 gY 3 FuAt A & 7 S 5 8, we
& ag graT=g © @ 71d a2 9 {3 udfta gt g1, fAofa & far fqu mg fAswuf & @ e @/
farseref AT @t ATfdhes &9 @ SrgERUT A1/ B/8|
HU:

TS Thudl, fZug g

ot sisTen, gHteRzor &1
ot fzue, =isre &1
farsen:

|. TS ik, YhUEl &1

1. 9+ft =iete, fEug &1

1. 9aft gefiepRor, gahudl &1
IV. 99t &iste, Tarudl €1

Ans X A T FsHY | SITERUT RAT 8 SR AET || SgERUI R 8
< B. 11 3R IV T SIgERUT & 8|
o C.HTd s | STERUI AT B |
25 D. dhae s |1 SgERuT Rt 2 |

Question ID : 1034359034
Status : Answered
Chosen Option: C




Q.11 39 faered o1 99 < il 3fTpfa C & I vepR Haifda & e uerR sepfar B smepfar A @

Tefaa 21
‘o oA+
. an ?
L] ° ° L]
(A) (B) (C) (D)
Ans
$+ 40
X A
K'B. @
o] .g."
oV
K’D. @
$ Vo

Question ID : 1034359045
Status : Answered
Chosen Option: C

Q.12 39 AF-JIH T 99 < fordH g1A1 AT & Ao T Gad, AW 141 2arsg-g7d] & i1 A=} &
A & Y & HT 2

Ans X A TgHfd: Ry
< B.9R: fdwRr
/< C. &7 Be-ger

o D.3~< : G

Question ID : 1034359023
Status : Answered
Chosen Option : D




Q.13 g g de o1 eaTagde sreaT= Y SR I HEAT ol T he Sl I9H HsErae g (?) &t
ufaefad &R Gandt g1

5 6 g
4ﬁ3 sﬁz *
2 1 4 2 4 9

Ans X A6
X B.9
& C.8
X D.7

Question ID : 1034359038
Status : Not Answered
Chosen Option : --

Q.14 39 G farea o1 T &3 51t fou 71g ere2] & famara &t 39 shw A 2rfar & foad 3 sidsh
srezarter A fRrard 33 &
1.Glamour
2.Golden
3.Glucose
4.Gesture
5.Goldsmith

Ans X A.4,31,25
X B.4,31,52
% C.4,1,35,2
& D.4,1,325

Question ID : 1034359020
Status : Answered
Chosen Option: D

Q.15 =R H=a1-fAer feg e &, fomd @ ot foreht 71 foreht a3 veramTa & ofiR ek srdva 81 a8
SrEe weEAr- A g |

Ans o A (7,11, 26)
X B.(4,5,6)
X C.(57,10)
< D.(8,13,22)

Question ID : 1034359037
Status : Not Answered
Chosen Option : --




Q.16 39 31&R-¥Hg dt ugarf~g St fFA=fofe sjgen @ |@&6fa a8 81
GSND, JQQB, MOTZ, PMWX, SKZU, VICT.

Ans X A PMWX
& B.SKzZU
X c.vict
2 D.MOTZ

Question ID : 1034359019
Status : Answered
Chosen Option: B

Q.17 39 a9 ARG T T4 &< ol FA=fef@a oot & fta & dae o) gafaa wa @ gaafar @i
TedTsl, Iedrst, MAh

Ans

X A.

o B.

% D.

@5@@

Question ID : 1034359039
Status : Answered
Chosen Option : D

Q.18 ua fAfHa ge wiwT &, 'SCRIPT &t ‘'WMLOFP’ & w4 # forar sirar g1 S+t wrar # ‘MANUAL’
ot fora uem? forar srem?

Ans X A PQXDRI
7< B. PXQRDI
7< C. ODXKXJ
o D. OXXKDJ

Question ID : 1034359027
Status : Answered
Chosen Option : D




Q.19 =R 3eR-uwg fag g &, fo=d & i foreht avg @ g & ofik o S1Ea g1 39 s
STER-HHE T 7T Fe

Ans o A WITH: TOWC
7 B.LOCK:CTLF
7 C.STOP: OYSK
7 D.KITE: TNKZ

Question ID : 1034359022
Status : Answered
Chosen Option : A

Q.20 IR A% fau g &, foad @ i foreft avg O varawr € iR Uah 31T 81 39 ST A i
TgT B

Ans X A&

< B. S

o C. SIem aren a1
< D. ol

Question ID : 1034359021
Status : Marked For Review

Chosen Option: C

Q.21 Uk SharR & Afar 3mt & 199 =19 u & 3R =z fia @ 208 w17 uz 21 fPRArart, sit siftfar
3R R & s = d @, fi3 § 139 == R g1 afe dar em @ 8d Tura ue @, at hae d
S @ ITRT AT T 8?7

Ans A 174l
< B.18at
X C.16at
< D.19af

Question ID : 1034359031
Status : Not Answered
Chosen Option : --

Q.22 ui" fas A1 ur Gedia @ @ &1 fishia 7atst & uff= 4 &, Afga fishia & fgor 7 &, gone
Afga & g 7 8, 5t o sraor & g # @1 gorre, fRefia 9 fopw faam 7 @2

Ans X A IWQd
X B
< C.zfeyor
o D. gfgurgd

Question ID : 1034359041
Status : Answered
Chosen Option: D




Q.23 39 "t Fi ugar & @t FEfafEa sfgen @ weafda agi g1

Ans

17, 24, 32, 48, 91, 198, 403.
X A.198

& B.403
2 C.48
% D.91

Question ID : 1034359036
Status : Answered
Chosen Option: B

Q.24 ue PAfYa ge vt &, ‘LOCKET’ @ ‘94’ & =0 & Heag farar sirar 81 3t wror &

Ans

‘EASTERN'’ o foh ueriR @ geag farar smgm?
X A.107

X B.109
X C.103

& D.104

Question ID : 1034359028
Status : Marked For Review
Chosen Option : A

Q.25 39 ey 1 T o3 fraH oreal & qea g deiy @ it fag 71g ersg-gr & 2rsal & "ea 81

Ans

gAatdtes: gar i afa
X A BTSSR : IMéaT
o B. ficaie : foroett
X C. hicHeR : e
X D. sreiie? : dhgH

Question ID : 1034359026
Status : Answered
Chosen Option : A




Q.26 Tek w2 far mar @ iR 3T a1 |, 11 3R 11 @ spwifera i eprdanfeai & &1 pua g v
gt aral ot T 91 gQ ag Frofa F s gend € swrfarfeat 7 @ o 6 srfafgat (aer
& ey # srgadi/gur & forg foram s aren fAofa) aifdhe w0 & srgaro & aia g
HY:
28R 1 Qeh ST ATAT &T 3R Ugfd ghar &I @1 & Fraifen & ga arel 9 A1at # hery 3191 @
2l
rdargl:
I. 7R fmm & srfemifval &) aret o gre & forg gram wfal @) g s arfeg arfes @t
3R T 7 ek Gehl

1. 3rferrfeat &t Aret Y TwTd w=it fRT ik i & forg et s1e & forg S
AT AT AR

1. 1R & FH31 Ghept Tl U= STATAT FWAT ST AR
Ans X A Had || SITERUTRIATE |
2 B. 1, 18R Il SIgeRuT R §1
X C. 18R 11 ST SgERUT &I & |
o D. Il 3R || S SIgROT & B

Question ID : 1034359033
Status : Marked For Review
Chosen Option : A

Q.27 = srpfaal & @rret & Qe gahs ol AT o1 3h TR S gQ IS ol h1e T adep erfar
T @1 Wi U ag RISt har fe@m?

P
r" l". G

Arad
AV

Ans

.

ap
XB g%
o o
ap
& C IV
L] ]
x D QP
Iv
(&) [&]

Question ID : 1034359046
Status : Answered
Chosen Option: C




Q.28 TAY YA SHATH | Y7 HRITT Gga & forg vt st 81 ag ITR Fr 3 65 m =l §,
3z foFR g 214 gt & 3R 30 m T=iet g1 fohr ag ardl ek gt @ 3 45 m I« g1 39H
1%, g 14 gl @ 3l 20 m Tt &1 ag ofa & a1¢ gt @ 3fiz 10 m g=<dt @ oiiz ey
AT ugad 81 9Ug & sravard ik G & g gan g@ ferat g2

Ans X A.120m
« B.130m
X C.150m
X D.140m

Question ID : 1034359042

Status : Answered

Chosen Option : B

Q.29 fiu g faereat & @ I snepfa @1 Tg= ffSig, st & 7 sj@en F usraras &g (?) & == O

BRI

LR

Ans

 D.

|

Question ID : 1034359044

Status : Answered

Chosen Option : A

Q.30 W' 1 Wit Heier'Afgs’ @ &, ag) "y w=gET AT ______ i E-|
Ans X A famg

o B.gaFI

X< C.forsm

< D. 3Rt

Question ID : 1034359025

Status : Answered

Chosen Option: C

Section : General Engineering




Q.1 Freer & 29 W a9 F 397 (V) 57 TFR AT HAT T TEr §

[F18: V, = AT # &9 & JTAH 397 (m/s), h, = ArAA F T gaR W AT fafiee wededr
(J/kg),
h,= A & TR o aw i fBfEee e (Jkg))

Ans XA V=V,+2(h,—h,)
X8 V=V, +2(h,—h,)

sC V= Jlff+2(hl—hz)

X0 V= Jlff +2000(h, — h,)

Question ID : 1034359074
Status : Answered
Chosen Option: C

Q2 Faf fireiter @1 forsaes 7o & A f&am = E
[T, = T To@E= arer oM & WA a9, T, = 3o Ji9HE Sl SR &7 9H o)
Ans T
H

A ———

Question ID : 1034359071
Status : Answered
Chosen Option: A

Q.3 Ty foreft puseht & 10 A A urzr anfaa gt & siiz Fus 1 IR 80 mH &, at Fust &
fa St Y morET RfSgl

Ans A4

X B.2J
X C.12J

X D.8J

Question ID : 1034359060
Status : Answered
Chosen Option : A




Q4 Which of the following is true?

Ans X A.
The percentage of carbon content in high carbon steel is always greater than 5%.

X B.

The percentage of carbon content in cast iron is less than the percentage of carbon content in mild steel.

xc
The percentage of carbon content in cast iron is always less than 0.1%.

« D. The symbol used for ‘Killed steel’ is ‘K.

Question ID : 1034359077
Status : Answered
Chosen Option: C

Q.5 Which of the following instruments is NOT used in chain surveying?
Ans X A.Plumb bob

< B. Arrow
" C. Trough compass
< D. Ranging rod

Question ID : 1034359050
Status : Answered
Chosen Option : A

Q.6 fa=fafad d @ ot ot s ugfa d 5o warg 6 fE2am & fAaR i T e ea=
are aeftg=l (B STTueY-ufede ardt a9«) o1 IuatT forar sirar 82

Ans X A. 3f@=faf& (Basin method)
«# B. @1faent faf¥ (Furrow method)
5 C. STt ame fafdr (wild flooding method)
#< D. fswma fafdr (Sprinkler method)

Question ID : 1034359053
Status : Answered
Chosen Option : B




Q7 Fr=fafEa 2o ve Hed ang-adiea yelids =% 9 g=nfag Jumel @ Geffia & &
quITelr i FeNaT &THAT = 7 kW
U &7 9faT 79E = 3.5 kW
T & o FlF @ FuF T 2

Ans X A JUTET &1 foyedEs aqone 0.5 gl
X &. JoTer & favaree Ao 1.5 B
X C. QUeN & F2=aY § FSAT IiLcTrT Fr 27 3.5 kW

o D.

QUITSIr & 8T ¥ FSAT TiTeT T 27 10.5 kW

Question ID : 1034359073
Status : Answered
Chosen Option : B

Q.8 200V, 2000 afe i e areht ger farega dAu i G+t @ ufate 7 ffSq
Ans X A.400

X B.10Q
< C.500
« D.200

Question ID : 1034359058
Status : Answered
Chosen Option : B

Q.9 orEsm=Hl (IRC) & SITHAR, urHior A<= & ATAA | AfAapai Y <gaaw ais-g gt
______ gt =nfgul

Ans X A.1m
5 B.3.0m
" C.50m
X D.25m

Question ID : 1034359054
Status : Marked For Review
Chosen Option : B




Q.10 5 kg 91 & gewART H1 FBUT g/ 9T 400 kPa 3T 200°C 9T 9% I 18 fka1 e & o9 g% &
mzw“caﬁawgﬁrmlwm#a’mﬁmmﬁmwmmm

[f&ar & : 400 kPa 3iT 200°C 9T #1 & fafdse g = 0.55 mPikg; 400 kPa 3T 250°C WY &9
T fafire smaaa = 0.6 mi/kg]

Ans XA 10 kJ
+ 8 100 kJ
xc 1kJ
X D. 1000 kJ

Question ID : 1034359070
Status : Not Answered
Chosen Option : --

Q.11 fa=fafaa d 9 w19 @ &rd & ag 'dide Ateft yaar & fog arg & o gad @2
Ans X AT

< B. g HeR

o C. TR

X D. Fmfier

Question ID : 1034359049
Status : Answered
Chosen Option: C

Q.12 ow Ifre ooie R-12 & &7 & Ifiheiie & o1y v ey arT-adiss wias 9% T 1 ST
#R 10 TR H wefras a7 Towrfa =ar &1 oy semfeq Feies 9m9 100 kJkg &, & 9efg=s #r
FEUATA WAE &Y FAT g7 [AT #iferT, 1 TR = 3.5 kW]

Ans XA 0.7 kgls
v 8. 0.35 kg/s
xc 0.525 kgf/s
x 0 0.247 kg/s

Question ID : 1034359072
Status : Not Answered
Chosen Option : --

Q.13 afy foreft nfawar sig Suwzur i ot @ gl arzr I’ vanfza gt & &, 9t g o1 fagtgor
HIoT 318 @ fopach aTguTdt glar &2

Ans X AP
o B.I2
X cl
X D.VI

Question ID : 1034359063
Status : Not Answered
Chosen Option : --




Q14 Grm & @ &l o1 dey Wé §7 [G = TeaT ANF, K = HUaA JedIeddl ANk, E = Yeareyar
ATF, v = @ Hd]

Ans oA E =3K(1+2v)
ve E=2G(l+v)
xc E=26G(1-2v)
X 0. E =9KG(3K + 26)

Question ID : 1034359068
Status : Answered
Chosen Option : B

Q.15 Which of the following is the type of soil deposit formed due to transportation of soil
particles by wind?

Ans X A. Glacial soil
< B. Marine soil
25 C. Colluvial soil
+" D. Aeolian soil

Question ID : 1034359051
Status : Answered
Chosen Option: D

Q.16 Qe gifeiez & 'a’ A1 0.75 g11 U= IUh B & | 6l M0IHT &I
Ans A3

X B.4

X C.0.75

X D.0.25

Question ID : 1034359067
Status : Marked For Review
Chosen Option : A

Q.17 100V & RMS HT9 aTd 50 Hz teaST 913 ad hT THIRR0T /T gim?
Ans X A.100 sin 314t

«" B.141.4 sin 314t
#5 C.50sin 100t
25 D.100 sin 50t

Question ID : 1034359062
Status : Answered
Chosen Option: C




Q.18 1 ohm & 71 ufadte vt ®U & [2 &1 AT TR FUiA01 & forg udes 2@t o1 ufasty
ferer=it grm?

Ans X A 15
& B.1/3
X c.3
X D.1

Question ID : 1034359059
Status : Answered
Chosen Option : B

Q.19 3mETs 10500 : 2012 (dawie fafadart) & SITHR, ST | get giora 519 yardf & wierd e
______ gt 81

Ans X A.1000 mg/I
« B. 500 mg/I
2 C. 1500 mg/I
X D.750 mg/I

Question ID : 1034359055
Status : Answered
Chosen Option : A

Q.20 fereft omR-wer-&t (R-L-C) Aoft ufkgu & srg=rg f fAfa &, arferqoras ______ gl
Ans X A.0.5 smradf

< B. 0.5 gggadt
o C. Qo
X D.O

Question ID : 1034359061
Status : Answered
Chosen Option : B

Q.21 g80°C =¥ s 37er 0.9 =rer s $r fafiz wrdled F2r @Rt [fam & 80°C W Tga &= W #r
fafirse e = 335 kJ/kg; 80°C WX =¥ & arsdreRor hr Rifise v = 2300 kl/kg)

Ans X A 2635 kJ/kg
v 8 2405 kJ/kg
X c 23715 kl/kg
x 0. 2070 kJ/kg

Question ID : 1034359069
Status : Not Answered
Chosen Option : --




Q.22 3I9 FHUT & Ueh1R it ugar & foraH gl wearge gidt &1
Ans o A Fcd & IR S Hifeat (Dog legged staircase)

#< B. g gy Hifgat (Open well staircase)
< C. umudt difeat (One way staircase)
2< D. gyafora Hifeat (Helical staircase)

Question ID : 1034359057
Status : Answered
Chosen Option : B

Q.23 400 m % &= (TN F T84 FH T THT 6 MW Fr oTre T 3sfag == & e o 90
e B TR g 1 i F ATA T T g 2mYs ¥ e e Fr THT gar w7 gri?
[ %7 g9=ied = 1000 kg/m?®, T &=7or = 10 m/s?]

Ans @A T75%
X B. 70%
X C. 85%
X D. 80%

Question ID : 1034359076
Status : Answered
Chosen Option : B

Q.24 T Ty w1d hifsgl
Ans X A T Mol h3d h = 1/ (A1 &fdsT hee fxh * aRad= 7oTich)

o B. AT il hae Qfeh = Wied &St chse ik * gRerd quiich
< C. uRad= 1uries = A1 &fasT hae fh * ATed Melig hse Afh
#< D. A1eA Tt dhsd A1fxh = e dfast dhse 2tk / aRad o

Question ID : 1034359066
Status : Answered
Chosen Option : D

Q.25 % ggrdf & 7o & ey # fAmfaf@a wual ur foar R ok a8l SR o1 9g4 &R
HYT A: ATIHT | gieg & ary A Y sar=iar i gt st 81
YA B: A9 &1 FiE fAffa smaast adl giar & ok ag uepfa # d@dfisa gt &1

Ans X A FYTASRBCH TEI g
" B.FUIB UG g SR FYTA T 8
X C.wuTA RB g T &
< D.HUTA T g SR FYTB T 8

Question ID : 1034359052
Status : Answered
Chosen Option : B




92 S A ¥ F O wuT T

Ans

X A
‘[EeTTaie eTTar H AT L T 2 % ganr & S g

X8 1.0 9= 100.0 N-s/m?

XC 1.0 = 0.1 mls
« D.

‘et earaar & famr L2 T 1 & gEnr & S @

Question ID : 1034359075
Status : Answered
Chosen Option: C

Q.27

i+t (DC) 2ie #ez fi guf wts nfa & s1fdew nfer wrw &weat & forg, fA=fof@a 4 @ o &t
fafa ot 22

Ans X A. TR &I g
o B. thicg i gem T
75 C. s Fie T
< D. 3R e TorT
Question ID : 1034359064
Status : Answered
Chosen Option : A
Q.28 ______ # olft oft 1p.u 1 WIR TUTR (s Thaer) A8 g Thdr 1
Ans X A Sefdga gas
#< B. MR &l W7
 C. A I8 997
X D. TR Fsif Ga
Question ID : 1034359065
Status : Not Answered
Chosen Option : --
Q.29 3TEgH (IS) affeor & srgaR fFA=fef@a & @ w=-a1 Hide o1 3= adi 82

Ans

< A. 91gRY qiédE @e (OPC) 53
< B. 91gRuI qiédE de (OPC) 43
o C. GuRuITiEdE @ (OPC) 23
Z< D. 9reRurgiées dHe (OPC) 33

Question ID : 1034359056
Status : Answered
Chosen Option: C




Q.30 Which of the following types of rocks exhibits greatest crushing strength when
compared to the other mentioned type of rocks?

Ans X A.Shale
< B. Sandstone
< C. Laterite

«* D.Trap

Question ID : 1034359048
Status : Answered
Chosen Option : D

Section : Domain Knowledge

Q1 Identify the type of fluid indicated by X from the given figure.

'y

— Yield slress—)| Shear stress 1, N."m: —»

Velocity gradient -5;— 1

Ans X A.Newtonian fluid
25 B. Thixotropic fluid
" C. Pseudo Plastic fluid
25 D. Ideal plastic fluid

Question ID : 1034359122
Status : Answered
Chosen Option : A

Q.2 When the rocks are classified on the basis of physical characteristics, the type of
rocks that has atendency to split up in a definite direction only is known as:

Ans  # A foliated rocks
#< B.igneous rocks
25 C. calcareous rocks

25 D. siliceous rocks

Question ID : 1034359078
Status : Marked For Review
Chosen Option : A




Q.3 fa=fafaa wr ok Serera foreht @ s ot uefala @=ar & it 80 cm =il 3iir 60 cm Tgd 81
ahe; @ fafdy @1 Iuatn o @ & forg Ad-wrd i srasgem A ______ gl

fk////;;,f AT T

'EA\-"? 30cm A / 60cm

4m / L) A J:l
PLAN /

Section A-A
/ (A=) Py
b W7 . &
< 6m \

Ans X A 6.54m°
X B.10.5m8
& C.8.064m°
7 D.9.68 m3

Question ID : 1034359094
Status : Answered
Chosen Option: C

Q.4 fa=fafEa § & o fard & erv d adf smar @2
Ans X A =TS 783 & fhaR Iuerets QG (Reror ARl & Hiew § R 6l giaawd Jioid &

X B. @@ 3T H iy
o C. IRTR 51 &3 33 8k 70 STararg giord &zl
2< D. =g emyfdf & o Iugi ehl ST ateft 18t g & eide i AuRag= g™ e

Question ID : 1034359128
Status : Marked For Review
Chosen Option: C

Q.5 QTSI & SUAR # vl g17 are seflif=in urssr &1 aanafaes am o an @2
Ans X A ORRTH TogHIaE dethe

& B. &R sEe

" C. FRIA gEUTIRET

< D. SEFIRMHHA

Question ID : 1034359154
Status : Marked For Review
Chosen Option: C




Q.6 A= # ugfaiq, s1a1 AB U, B =itsrd 3iiz D g1 aret Uah Simad o1 wisd syl F=faf@aa d @

Ans

fora g1 = 2rfar srem?
= B
-“L —
DB?
A [
B ] B_DE
4B — 4
DB?
XC .=
AR 3
BD?
2 D Fopenit

Question ID : 1034359183

Status : Answered

Chosen Option: D

Q.7 1S 800-2007 ZI=T S11=ifa atee a1 frdes swaer & forg Afim ar fY gaaw drerd fora+t

Ans

gt 87

« A U3 dice a1 Rde & sifafgd e &t = T

X B.Us diee (end bolt) a1 Rae & sifafgd aar & srmr|
X C.Usdie a1 de & siffRd oy & qigr

< D. g aice a1 Rae & sifafed =9 & ar T

Question ID : 1034359179

Status : Answered

Chosen Option : C

Q.8 fa=fafEa d @ 9dl wu @1 =g fifSig:
1. @fast e fagas At & smeae g1 ure forar e g1
2. TThg) &1 TR A aTell Tehg) & WoTeh ST & ZIRT UTd fepar Sirar 1

Ans

o AT YT I
X B3 Gy sRA B |

X C.hu1 3 g 3R 2 g &1

X< D.%hYT1 gI§ 3R 2 A g

Question ID : 1034359084

Status : Answered

Chosen Option : A




Q.9 Contour lines of different elevations can intersect only in the case of:

Ans & A overhanging cliff
#5 B. steep slope

25 C.valley

25 D.ridge

Question ID : 1034359102
Status : Answered
Chosen Option : A

Q.10 1 3 m dteT 3R 4 m 4T Qe HHIA dAT 1.5 m ST E2arsi fE@rar mar g1 €ar 250 mm
#t& @1 25 mm Aierd ardt snaad $U-Yoh I o1 A ______ H

7
F<—4 m 7
I3m| -
A
wall
D / (Eram)
Door
(G¥ara)
Ans X A 12m?
& B.3.375m?
2 C.034m?
X D.6m?

Question ID : 1034359089
Status : Answered
Chosen Option : B

Q.11 fewRTHua & SMuUR U TR & Fffepa & & forg 600 x 50 x 50 mm SRR Tt THeror-
a1 o foredt faRte wwamaf & forg yfa & st sneft ard & ms faar sman g, sz fafe=
g g A H AT Tie Hir st @, ok 39S st sfraaarrer i wworar i st g1
I fearts: ehl & w4 d aiffepa @A & g, Sqa ofifad Sl s @ am ______ g=r

afggl
Ans  # A 120 ATg 3R 399 31fdem
/< B.30TE T &
< C. 120 T8 ¥ &7 AfchT 60 AT IT ITY 3fdeh

< D. 30 51E @ 31fdh 3R 60 ATE I FHH

Question ID : 1034359081
Status : Answered
Chosen Option : A




Q.12 R frwar areft arq Y g g 2fte 7 r Broat aren g B vt mr g1 A 9 fie & e
STaifehd @wd T Fhgeh T 82

Ans

Question ID : 1034359166
Status : Answered
Chosen Option: D

Q.13 Which of the following methods is NOT used for calculating quantities of materials in
building e stimation?

Ans X A.Long and short wall method
< B. Crossing method
< C. Centre line method

«# D. Straight line method

Question ID : 1034359090
Status : Answered
Chosen Option : D

______ Tt & wRa & aAragTies STy ST Tk IETER0T 81
Ans X A. T HIZX

< B. AW e HTU9E
o C.ele &
25 D. &eR

Question ID : 1034359124
Status : Marked For Review
Chosen Option : D




Q.15 Match the following tests conducted on sub-grade of highway with their types.

Test Type
1. Shear test A. California bearing
ratio test
2. Bearing test B. Triaxial

compression test

3. Penetration test C. Plate bearing test

Ans X A.1-C, 2-B, 3-A
7< B.1-A, 2B, 3-C
o C.1-B, 2-C, 3-A
< D.1-B, 2-A, 3-C

Question ID : 1034359146
Status : Answered
Chosen Option : D

Q.16 famfaf@a 2er fareft foig A & forg awasiaror & ura fare e 3, st gas daarh g1 & forg
gorma:
daureh 1 IFUT = 210.852 m
e arge (uEgf®) = 2.324 m
IR H15E (31Ug®) = 1.836 m
feig B o1 S=a= fopa=T 82

Ans X A.213.176m
X B.212.688m
o C.211.340m
25 D.208.528 m

Question ID : 1034359105
Status : Answered
Chosen Option: C

Q.17 188 =19 4 m iR eriaf¥es arw 2 m areft 20 m F=h @@sh, gefta Rmf & sz uz u=aer
ufaae &1 Prafzor Hifdrg) ag REEh 1kN/m? dear arat dfas arg-ara & srdi= 2, ok R
& wreht 1 AT wR 20 kKN/mS3 @1

Ans X' A 350 kN/m?
& B. 400 kN/m?
< C. 300 kN/m?
7< D. 250 kN/m?2

Question ID : 1034359167
Status : Marked For Review
Chosen Option : B




Q.18 Sieite Age &t fawmsa &, afe mre &1 i &or smarg (mm 3a&TE F) m, 8, 9t aft & weftawor
I Gufore fee e f______ gl

AN XA 0.76,m,
v 8 1.76,/m,
X c 1.76m2
X 0. 2.76,/m,

Question ID : 1034359134
Status : Marked For Review
Chosen Option: B

Q.19 afy fopeft 78X =l 60 FgAF (cumec) arat sifdran vare & forg fasme= forar mar &t dfer=
IHhT IHY WaTg 50 FgAeE (Cumec) &, Y I AgI T eniRaT qored ______ gl

Ans X A.1.20
7 B.0.64
X C.058
o D.0.83

Question ID : 1034359130
Status : Answered
Chosen Option : D

Q.20 When the sanctioned estimate exceeds by 5% either due to the rates being found
insufficient or due to some other reasons, afresh estimate is prepared which is
called:

Ans X A.supplementary estimate
" B.revised estimate
#5 C. detailed estimate

25 D. plinth area estimate

Question ID : 1034359088
Status : Answered
Chosen Option : A

Q.21 T ferelt Y@ a1 v=eaT S1iR Sreqiar shusr: +78.0 m 3R —135.1 m §, at @71 &1 quf g= safar
______ 8l

Question ID : 1034359100
Status : Answered
Chosen Option: C




Q.22 IS 4954-1968 & AR, foreht v ;a1 F forg AT §elR R amT &R ______ gargl
Ans X A.30¥35dBdw®

«" B.35340dB d®
< C.453950dB d®
< D.25¥30dB d®

Question ID : 1034359151
Status : Marked For Review
Chosen Option : B

Q.23 fam=fafia d @ F1=-91 U TAyd arg ugys 8?
Ans X A BiASEES

X B. TR gfiis

< C. o

o D. Fiea OHIES

Question ID : 1034359152
Status : Answered
Chosen Option : D

Q.24 =g saifmifaeh # fygafRadt aiu sz dwst (weir and barrage) & sft=r et o1 &t g

Ans X A ReaRedT sty & gaen # skie, 7€t & afgatg & ary-ary 3519 (it &fh) gz d fAemror
g T aeA H §1

" B. RauRadt afu & Sian @ wu ¥ 7t gR1 [ fhar ST 8, STefch SRIST # STl &1
g a1 Shihie 3NeaRueA! Sie gRT fohar ST 81

X C. RrguRad sty 1 iR vep 1S a1 dhchie aTeft T gidt @ Stafch aRret # R shehle
Affa gar &1

< D. RguRadt sty yer Tefgd Ga gidt & STafch Teh skt § Feaier forde e e gia g1

Question ID : 1034359132
Status : Answered
Chosen Option : B

Q.25 W= 3ifdwra 71 (spillway) &t Tag @t h wifent arez ste Y et a1 (nappe) & emepR &
U gAed & fog gt mar gl atss ______ & = & ST A4 8l

Ans X A. e f&erd
< B. g [&ed
o C. SiiSh ferd
2 D. gfu f&erd

Question ID : 1034359136
Status : Answered
Chosen Option: C




Q.26 Match the following elastic constants with their definitions.

Elastic constants Definitions
1. Young's modulus of A Shear stress
elasticity Shear strain
2. Modulus of rigidity B Volumerric stress
" Volumetric strain
3. Bulk modulus C. Lateral strain
Longitudinal strain
4, Poisson’s ratio D. Compressive stress
Compressive strain

Ans X A 1D, 2C, 3B, 4-A
& B.1D, 2A 3B, 4C
X C.1-B,2-A, 3D, 4C
< D.1-D, 2-B, 3-A, 4C

Question ID : 1034359165
Status : Answered
Chosen Option : B

Q.27 The upper plate of the levelling screws in the Dumpy levelis called the
Ans X A. tripod

< B. trivet

#< C. levelling head
" D. tribrach

Question ID : 1034359099
Status : Answered
Chosen Option : D

Q.28 g m3 amaa+ o 4kN R aTat e a1 fafdre e o 82
Ans X A2 kN/m®

X B.1kN/m?

X C.2.5kN/m?3

& D.0.5kN/m?

Question ID : 1034359118
Status : Answered
Chosen Option : D




Q.29 Match the following speeds with their definitions.

Speed Definition

1. Spot speed A. The average speed

maintained by a vehicle over
a particular stretch of a road

2. Running speed B.

The effective speed with
which a vehicle traverses a
particular route between two

terminals

3. Overall speed C.

The average speed of a
vehicle in a certain road
length at any time

4. Space-mean speed D.

The instantaneous speed of a
vehicle at a specified

location or section

Ans X A.1-D, 2-C,3-B, 4-A
& B.1D, 2-A 3-B ,4C
< C.1-B, 2-A, 3-C, 4D
% D.1C, 2-A, 3-B, 4D

Question ID : 1034359145
Status : Answered
Chosen Option : A

Q.30 Sie forelt 91 o1 g fRRT fRIR 81 oflk gom AR 9<% &Y, &t s1rwhentdt s P o1 dsies orT 87
E- T T UATRYAT ATTih, |- ST Smyof, |- & i dars g1

Ans _T[Z EI
A
412
2m2El
12
2 EIl
812
2 El
. B

X B.

Question ID : 1034359163
Status : Answered
Chosen Option: C




Ans

#< A. degree of consolidation
#5 B. percentage of air voids
«# C. degree of saturation

25 D. degree of compaction

Q.31 In asoil sample, the ratio of the volume of water to the volume of voids is known as:

Question ID : 1034359109
Status : Answered
Chosen Option: C

Ans

Q.32 UT%hd ot fraa aarar g foh:

o A 23 & faRmraen § Rt fig R g &Y fiaar a=ft ket & o gicft 8
X B. R ¥ Ry e fig R a1 S5 fRR g1 8

< C. fUs &1 vR fAenfid g & Sya- & aRER AT g

< D. @R A [t oy 7Y fofig R e g1l fRR gIaT 81

Question ID : 1034359119
Status : Answered
Chosen Option : A

Ans

«# A. Cooper Jacob's formula
< B. Allen Hazen's formula
< C. Louden’s formula

< D. Jacky’s formula

Q.33 Which of the following is NOT an empirical method for determining the coefficient of
permeability of soil?

Question ID : 1034359113
Status : Marked For Review
Chosen Option : D

Q.34

Ans

fAm=fafaa syl d & 98 e 791
Y 1. 3= AT9AETAT R IuARE (cure d) fhe 71T dighie @ s gaar &w gidt &1
HY 2. IYIRYT/HFAT (Curing) Teh Tt ufshat & STt STeratsr &t G F41edt 81

XA FUT] TEIE IR FYUT2 AT 8
X B.aMi s aEl g
o C.HYT1TId & SR T2 TET 8
X D. 3 HYF AT &

Question ID : 1034359174
Status : Answered
Chosen Option: C




Q.35 fa=fafia sngfa & vefia frames fRg & ugar fifSg

Ans X A T

" B. TRy gATT
< C. Arurfhm

25 D. <terd A

Question ID : 1034359140
Status : Answered
Chosen Option: C

Q.36 famfafaa & @ wifas wu @ srfafya fiw i ugara ffeal

Ans

X A

xBA
- y

& 1

Question ID : 1034359159
Status : Answered
Chosen Option: C

Q.37 fA=faf@adad______ o Bigehe AW 4t TRUT chshle & sraurd H sl e & feg &1
Ans o A TRER U B

/< B.Tieh! BT UM T

Z< C. AmuHE A §9IY &

75 D. SRf¥% 3= SrauTa

Question ID : 1034359173
Status : Answered
Chosen Option : D




Q.38 fa=fafia 7 @ forw qa1 afferzor vorreht & &1 >l 9= wEl | wifpa forar mar 82
Ans o A TOUCH SWICYE Silth SIS IRl

#< B. QehIepd FaT aifien<or

X C. =it (AAST HO) afferzor

2< D. Efeam €8 Fiffenzur

Question ID : 1034359111
Status : Marked For Review
Chosen Option : B

Q.39 fa=faf@a wu=t & @ srudd) yul @ Gefa gt fasea o =g fifsgl
1. afe I=a Srat=aar faesfaa forar s @, at srder Aoft s J s sird €
2. 9} ar A ga & faasta & forg rder, gaT=iar Ha d @S o1 @1

Ans X A TH HUT G &
< B.&uT1 Tg g 3R 2 s gl
X C.hruT2Tgg 3R 1 s g1
o D. T FYTEA I

Question ID : 1034359123
Status : Answered
Chosen Option : D

Q.40 waré L arat e Fdrefter dfitn o1 fagtgor, gen ok ur e fig Wik ______ @@= fang gan @, et
E, T T UdTEAUAT ATUTh § 31X | STee Smyguf g1

Ans qA.WLEF-ﬁ?]'Eﬁ'aﬂ'{

3EI

PR R it g g

8EI

x o WL 3ty 3y

8EI

> 0. VL ST il a0

6EI

Question ID : 1034359161
Status : Marked For Review
Chosen Option : A

Q.41 fam=fafae 7 @ o= o fafYy, dufa & o= gt gea o1 e &R & forg Suatf fafy ad
8?
Ans X A. fomr fafe
o B. s fAfy
X C. oot e fafy
#< D. g fafa

Question ID : 1034359097
Status : Answered
Chosen Option : D




Q.42 fa=faf@a 7 @ w9 W IS dfgar saara fArafor ok fesmea & forg g fEarr-fAEar ue=
el 87

Ans o A.1S800-2007
7 B.1S1077-1992
2 C.1S10500-2012
7< D. IS 456-2000

Question ID : 1034359178
Status : Marked For Review
Chosen Option : A

Q.43 IS 456-2000 & JJHR T i siaTurfud forg faar shie 914 & forg suai forg s+t arst
ST | Sufea aefiigs frorgRa Har ______ gl

Ans X A.500 mg/I
2< B. 1000 mg/I
2 C.200 mg/I
# D.2000 mg/I

Question ID : 1034359169
Status : Marked For Review
Chosen Option : D

Q.44 de & famfafaa gewl @t IgTgw0r afga gafaa fifsm

9T & UeH 3ETEI0T
1.39 A. ifEs e
2. Afgeper B. ferefmr
3. e C. arsc @
4. 31T D. o=

Ans X A.1-C;2-D;3-B;4-A
< B.1-B;2-A;3-C;4-D
o C.1-C;2-A;3-B;4-D
2 D.1-D; 2-A; 3-B; 4-C

Question ID : 1034359087
Status : Answered
Chosen Option : B




Q.45 Which of the following is a characteristic of rapid sand filters in drinking water
treatment?

Ans X A.The effective size of fine sand of 0.2 to 0.35 mm with uniformity coefficient of 2 to
275

#5< B. Requiring large area

2< C. Highly efficient in removing bacteria

" D. Backwashing by water and compressed air for cleaning

Question ID : 1034359157
Status : Answered
Chosen Option : D

Q.46 arg ugyur &, A wH frd defifa wvar 82
Ans o A TERR AATAT areT SR SIfd-SGISH ATdTaRoT § ST ITel WA Y, STt S=aaH SRR Jrdmaxor
a1 HaT g

#$ B. 5d T ISHAUT & HUR Yo Holgd S1f-TgIcH e & i gt &1l

X C. 59 &1E IShUT IR, Reh & M T NS g iR gt ofk R & 2 a1fa-vgrent fafast eara
il

2< D. Iu-TgrsH R # g1 arel T8 & 1, STt ATgel! ¥9 & AR arama=or 0e71 &zar 8

Question ID : 1034359156
Status : Answered
Chosen Option : A

Q.47 Select the disadvantage of plane table surveying?
Ans X A ltis most suitable for small scale maps.

< B. Itis useful in magnetic area.
4" C.Itis essentially a tropical instrument.

#< D. The surveyor can compare plotted work with the actual features of the area.

Question ID : 1034359106
Status : Answered
Chosen Option: C

Q.48 gdarur | gt A1 & ki FEfaf@a d & i a1 gur ghn AwrSTS Ear 8?
Ans o A laaT

X B. [&ama

X C. Frde derg

25 D. arga=

Question ID : 1034359098
Status : Answered
Chosen Option : A




Q.49 33T Az FHT & AR Aegad] argd g (Fewifage Hiver 3) 6 wrsrs fora= gidt &2
Ans X A.7.0m

X B.75m

X C.375m

«* D.55m

Question ID : 1034359138
Status : Answered
Chosen Option : D

Q.50 Which of the following is correct regarding autogenous healing of concrete?
Ans X A.lt cannot take place in continuous saturation.

" B.Itis a natural process of crack repair occurring in the presence of moisture.
< C.ltis particularly effective in cycles of drying and re-immersion.

#5 D. Itis an artificial process of crack repair occurring applying water.

Question ID : 1034359177
Status : Answered
Chosen Option: B

Q.51 4.5 m as faqa uiw g a0 (props to slab) & forg fefti srafey fora= gt &2
Ans o A 71T

X B.14R7
X C.21R7
X D.3fgm

Question ID : 1034359171
Status : Answered
Chosen Option : A

Q.52 areR a1dE AheH (WBM) a1t & ga-39 &id & forg feras eifderan @t detew sroador a9
I STeva gt 87

Ans X A.50
X B.40
& C. 60
X D.15

Question ID : 1034359147
Status : Answered
Chosen Option: C




Ans

«F A PET SR
#< B. g shife

< C.3ic R
2 D. g aus

Q.53 fam=fafia 7 @ fore wia-33s1 ord 7 918 @1 HFL 98k & a9« @ vafw w0 & 13 glar g, aife
Steafaarreht o1 uTt EETRyur & aga Wad U @ varfga g ah?

Question ID : 1034359137
Status : Answered
Chosen Option : D

Ans

< A.500 mg/I
< B. 250 mg/I
2< C.2000 mg/!
# D.1000 mg/I

Q.54 1S 10500-2012 & HTHR, AhfcAeh Hid & U | GISTA A Feiirgs dl Hfdman srgaa
@\ gt 81

Question ID : 1034359148
Status : Answered
Chosen Option : A

Ans

& A. 1540
X B.1525
2< C.1583
< D.1425

Q.55 #Ts 51 T UIM + 7 & TuR g a1t 1 freiisfie ued & forg fopaa whtad i smasaar
gt 82 aifs 71 uedt &Y A1Fs «ars = 13 m #ifSgl

Question ID : 1034359144
Status : Answered
Chosen Option : A

Q.56
Ans

FHUR g gl ______
X A fgdia o i de
< B.uan &t Frde
o C. g gl it e
X D. =g Aof 1 e

& w9 # effepa forar srar 81

Question ID : 1034359080
Status : Answered
Chosen Option: C




Ans

Q.57 S1ged &R & = A aiffes aera St 1A 91 U FRSY & WA S AT USRI i 8,
hgl SITdT 2l

«" A. 3% (checks)

Z< B. Rama (rindgalls)
X C. 3y (upsets)
< D.7its (knots)

Question ID : 1034359085
Status : Answered
Chosen Option : B

Ans

Q.58 fa=fefEa d @ wi=-41, dhshie 7 wyh sifafAsmor o1 wrd 81 82

X A geTddT &t S
X B. &dhie & RRATHTT &l IgrT
#< C. STeAiT & Rl hch chshie chl TTH IGHT

o D. TS T ISHT ol Fg™

Question ID : 1034359172
Status : Answered
Chosen Option : D

Ans

Q.59 fa=faf@a 9 @ w19 a1 aufarues @31 auf 6 daar v 98 w=ar a2

o A TRTA RIS
< B.Rfimsgdhe A
< C.agThe FiW
< D. Te T18Y [ i

Question ID : 1034359131
Status : Answered
Chosen Option : A

Ans

4dg_
Tha
Do,

%
Do,

Thd

X A

' B

xc

 D.

Q.60 ufagasardLy______ & g1 & st 8, S1ef ¢ = &3 @ sifdfea e, o = fasnsa dz o
A1 Y ST a1 &2 F ufdad, 3R 1,4= fasms smsivr ufaas @1

Question ID : 1034359185
Status : Marked For Review
Chosen Option : A




Q.61 Teh 50 mm x 8 mm aTeAT W 18 F1R 80 kN hT WIR ag+T & & forg &1 srawierTen & 250
mm? & ATIEY-RTE & Bhel & AT YoTawT a1t LYl & A7 1 gderor famar mar uri 993
11 g foman war siffrera 911R 125 kN AT1 YREAT I[UTeh T 87

Ans X A.20
X B.15
o C.2.5
X D.0.4

Question ID : 1034359182
Status : Answered
Chosen Option: C

Q.62 Hartfa vfaez 2% &, ford geawm i gqs & Wi 31u a1 Sugl fora sirar 82
Ans X A.4.25Kkg 3R 425 mm

#< B.3.85kg 3R 350 mm
" C.4.90 kg 3R 450 mm
25 D.2.60 kg 3R 310 mm

Question ID : 1034359116
Status : Answered
Chosen Option : B

o B
D

Ans T[D'4
M T

nD*
Ty

nD*

¢ las = 5ep

nD*

5 D. IAB g e

Question ID : 1034359160
Status : Answered
Chosen Option : A




Q.64 ek g Hier dchire fAsor (1 : 2 : 4) & forg sawges Hde s afmmor _____ ghar anfgal
Ans X A 025m°

2 B.0.15m3

2 c.019md

o D.0.22m3

Question ID : 1034359096
Status : Answered
Chosen Option : D

Q.65 Air entrainmentin concrete increases its
Ans X A. permeability

«# B. workability

< C.segregation
#5 D. strength

Question ID : 1034359176
Status : Answered
Chosen Option: B

Q.66 Which of the following assumptions is NOT applicable in Rankine’s theory of earth
pressure?

Ans X A.Thefailure of the retained material takes place along a plane known as rupture
plane.

#5 B. The earth or soil retained by a retaining wall is cohesionless.
" C. The earth or soil retained by a retaining wall is cohesive.

< D. The frictional resistance between the retaining wall and the retained material is
neglected.

Question ID : 1034359164
Status : Answered
Chosen Option: C

Q.67 Fineness of Portland cement is tested by which method?
Ans X A. Autoclave method

4" B. Blaine's air permeability
< C.Vicat apparatus
& D. Le Chatelier apparatus

Question ID : 1034359083
Status : Answered
Chosen Option : B




Q.68 Which of the following is defined as the volume occupied in millilitre by 1 gram of
solids in the mixed liquor after settling for 30 minutes?

Ans & A.Sludge volume index
< B. Volumetric BOD loading
< C. Sludge recycle
#< D. Rate of return sludge

Question ID : 1034359153
Status : Marked For Review
Chosen Option : A

Q.69 famfafEa # @ forg ek & fiw & dhgr-vla=R (contra flexure) faig gtar 82

Ans W kN/m
X A
L -
- -L -
- . [ ——— | —--— " ——
I wi
B. |
" A . B
w/m
xc.
1
wy N/m
@D ] 1 EEEER] 1
A |
1.2 m-» 3m ote-1.2 m-+

Question ID : 1034359158
Status : Answered
Chosen Option : D

Q.70 <ieh T=rfa e & 7T 160-mm 1Y a1t Teh 319 ATHE <ht1 IUTT fopar maT g1 afg arae &
forg Ofa srflreras srawsgor ufdrarst 50 N/mm? g, at errae g daf¥a sifleraw awmegof s
8?7

Ans X A.10.41tkN-m
o B.12.8nkN-m
X C.13.9kN-m
2 D.11.21kN-m

Question ID : 1034359162
Status : Answered
Chosen Option : B




Q.71 fam=fafaa ==t & @ 3@ F=R &1 g Y, St FRufere & 319 wR & uhrR 7 A1fae gl
Ans X A @t

«” B. Tl & fdelch

X C.&rg

X D.E

Question ID : 1034359150
Status : Answered
Chosen Option: C

Q.72 ufye SeigaR d f@pfindsd ______ & fag gtar &1
Ans & A STURIE ST A Hig ddf ofR M &t gem

#< B. 7% o # HiSlg Snfdetdr ¥ A
25 C. SufRrE Se Y T 3R TT R w3
2< D. 3ufE Siet # Hivlg JEH Iqeh UT SIeRT eher

Question ID : 1034359155
Status : Answered
Chosen Option : A

Q.73 s "MYUT @ G Tt a2 &1 9= HifSigl

Ans o A IS TG SIAT 8|
#< B. afar Ao # ug<h &3 & a1e s 3R smaer A &l S g |
< C.gfzd ok erg g T vgi ae STt 8 |
25 D. woreet, R um ofk axmagiRenar ag STt 81

Question ID : 1034359082
Status : Answered
Chosen Option : A

Q.74 ______ Y Trdsif=e gigerstt & uTd MEs A9 & WY U foRar siar g, arfes @i args oy
& 9T gl ST & forg $a6 9|

Ans X A uRaeH 9y (Drive ways)
X B.sTd (Bus bay)
«# C.< 13 (Lay byes)
< D. T &= (Parking lanes)

Question ID : 1034359139
Status : Marked For Review
Chosen Option: C




Q.75 #Afear Rt fad 20% sndaiar ok fafre 1w 2.5 @ @q@ 81 afy sad @qfta @ afara
70% g, at Rfvr srqura ______ ghmi

Ans X A.068
% B.0.76
X C.0.82
o D.0.71

Question ID : 1034359112
Status : Answered
Chosen Option : D

Q.76 feReht Tga dehn o sfiafve ol Tt ______ BT &, STl n <ehw it YaIrsii & ST Bl
Ans XA (n+4)x 90°

< B. (2n+4)x 90°

" C.(2n - 4)x 90°

X D. (n - 4)x 90°

Question ID : 1034359103
Status : Answered
Chosen Option: C

Q.77 U1 {TTY sieT ash & fAr=fef@ sifes wiwa Ry Mg &: D1 =0.2mm, D3¢=0.5mm,
Dgo=1.5mm, IEhdT T UTich ATd HIfAGI

Ans X A.3.0

X B.75
o C.083

X D.2.5

Question ID : 1034359115
Status : Answered
Chosen Option: C

Q.78 L &9 aret &l i hl ag w1t iars, Sit i1 AR ur wuret &1 9 srafeya &Y St @ o
T R u qufa & feg sradifRa st @, ______ 8l

Ans X A.1.5L
& B.0.80L
X c.1.0L
X D.0.65L

Question ID : 1034359180
Status : Answered
Chosen Option: D




Q.79 af& N + 6 & wHU ov@ a1t ARt & WA & U FIE i3 o1 ¢ fasrar mn g, 9t Thur
A gd 68.4 cm ghtft1 afg Whurfr Az 254 cm g, ARG RN R mgad______ ghth

Ans A 21.5cm
5 B.47.0cm
25 C.36.5cm
25 D.29.5cm

Question ID : 1034359141
Status : Answered
Chosen Option : D

Q.80 TrerRT AT ufatsT=T Wika <t wg g ufaisrst & 9 g @, orwenr fAamfor ______ Tt
oTeiR______ T4 | fopar mar g1

Ans X A mgFEY ofR aifdem
< B.7iseh 3R fagR
2< C. gaqst 3R o e
o D. T iR ufgm e

Question ID : 1034359129
Status : Answered
Chosen Option : D

Q.81 The minimum grade of concrete used for moderate exposure condition of plain
cement concrete as per IS 456-2000 is:

Ans X A.M20
o B.M15
7 C.M30
X D.M25

Question ID : 1034359184
Status : Answered
Chosen Option : A

Q.82 fAm=faf@a wu gantt ok fzmmif RCC wia @ Hsifda &1 9t fasea g1
FHYF 1: TRATH orrelt &, w1z uy & fAafores, wiRor st I Fa1d & haer daaa Ruraialka
& Y &THAT & ATY WYL gyl Y gHTiaR ufteal & wu 7 gegar g &
& 2: fganft ot A, waf @t ufa=dd) sragat & g w11 S Tonar @ fowd v wist &
Teh rgqaqa gra ufaty farar sar &1

Ans X A GHI HUTTEA 8
/< B.&UT1 TEI & IR FUT2 AT 8
o C.HYT1Td & SR T2 TET 8
X D.a i puA T g

Question ID : 1034359186
Status : Answered
Chosen Option: D




Q.83 =¥ (D) aret forsft gt gy & forg gragifera fHsar (m) &t ______ @ ==k fopar SITar 81

Ans

D

r N i)
e

D

x B, G
-~
XCm=D

v 0 S

Question ID : 1034359120
Status : Answered
Chosen Option: B

Q.84 ¥ eftaR T T IUANT______ fruffya <t & forar saT 81
Ans X A €4 ¥ 5a1 6l ddie amed

X B. &FdgRiaTeE

#< C. ygiRIern # 7aT &7 SRy e

" D. ©d # Afear e+t g &Y srawgur ared

Question ID : 1034359114
Status : Answered
Chosen Option: D

Q.85 TR gshl il ITTT Ft afRFat o1 gy o & forg fAmfafaa 7 @ forg 3 (checks)
Y v foRaT ST @2

Ans X A sifH fig 39 uaR fRd g1 [ 9 ufa=se ivr g Ao+l § Wds ¥ 9 og dsh foig & duTet
il
75 B. sifaw fig 39 uaR ¥ g1 o ag weisan fofg @ AuHl 9 Wds &4 ¥ dg a3k foig & duTet gl
< C. sifon fig 39 uaR R &1 &6 a5 s feig & #1osi @ Wds w0 @ s swadt wefsar &
Ut g1
o D. sifam foig 39 v R4 81 fon a8 ufaees foig @ w1l § T U 9 dig wuefsar fig & gurdt
Gl

Question ID : 1034359104
Status : Answered
Chosen Option: C

Q.86 The value of the property recorded in the register of the municipality or any
government agency in order to determine the taxes to be collected from the owner
of the property is called:

Ans X A. capitalized value
< B. market value
4" C.assessed value

#< D. book value

Question ID : 1034359091
Status : Answered
Chosen Option : D




Q.87 IS 456:2000 & 1JHR, Wafera Hide dhhle huRr= Aav &l 99 g B¢ w9 & Fu 7 7141
SITQI, STef SpeIaT ST ______ @ ¥ a1 59F TAT G|

Ans X A 16
X B.8
X C.10
o D.12

Question ID : 1034359187
Status : Answered
Chosen Option : D

Q.88 w9 Hide 19 gRT 99-is u Wde Aief evmar sirar @, at hare amsfan
STt 81

Ans X A derrge e
o B. 2ifcchie amsfam

75 C. 3RWTee g fam
< D. Fteex as T

Question ID : 1034359133
Status : Marked For Review
Chosen Option : B

Q.89 uM At & wa & TrHT= R & forg fAr=fafaa 9 @ o= a1 sy ar=a @2

Ans X A.2cm AT I 39 gk (-4 S, gidels diHe dthie (1: 2 : 4) aTel 39T g 9118 T,
fores g8 &1 Uah ad &ie gl
o B. Ui a1 fordlt s Rfde arex g ameft & a8 5% gl & 919 2.5 cm HICTE aren Wiie
Shehic T 37 gk (AH1-1eft) A1 g
25 C. QAR &Y sriaRes a1 agd gdg e wire dgH a1 e AR ghi, foeadh sigk athdt & o9
hic 3R IEX H Gl 1 TF hic g AT

Z< D. ORI &Y sTidien ddg WR gl @ geft g1 T1fe T ofk It & i il & gant 11 91fe T, SR
e TdE AT A H WG ST AT

Question ID : 1034359095
Status : Answered
Chosen Option : A

Q.90 fa=fafia wuEl d & geaie Hedt @) fasen @ ag= RifSq
1. that g1w1 fruffa gea ) a19IR ge7a et STTar gl
2. geagr¥ 6t &R ur fruffva gea &t ad goa w1 s gi

Ans X A FHYT1 TIE R 2 A |
X B.HYT29a 8 3R 1 s Bl
o C.aH YT I8
X D.a i pYT A g |

Question ID : 1034359092
Status : Answered
Chosen Option : A




Q.91 faferg 19 & araa d fopeht digaa ar & NS fawerar a« (failure plane) dfastaz______
U3 T4 gaT &8,
STET ¢ STUTEUUT UfARIY AT 10T 81

Ans
_ . 0
XA45+§

XB 45"+ 0
Xc 45—

D 45 —

| S

Question ID : 1034359117
Status : Answered
Chosen Option : D

Q.92 Water-cement ratio in concrete is the ratio of:
Ans X A.thevolume of water to the weight of cement

#5 B. the volume of water to the volume of cement
" C.the weight of water to the weight of cement

< D. the weight of water to the volume of cement

Question ID : 1034359175
Status : Answered
Chosen Option: C

Q.93 The flakiness index testis NOT applicable to the aggregate sizes smaller than
Ans & A 6.3 mm

25 B.10mm
25 C.5.5mm
5 D.7.7 mm

Question ID : 1034359168
Status : Answered
Chosen Option : D




Q.94 ¥epifier &, wia gfe-¥ar snaa gieft & ofk =1 ol diaad aT wirar g, at dfasrgd ______ &
a1 &) STt @, gt sirestae 119 Y f-hiehd gf; d-onfteret dhe 3R ITSRUT & aad 3181 &
st &t gft; S-wTw RteM; | -ufafda & @ard; 0 - I7a= Hor i

Ans f
XA ?Ssinzﬁ' + (f + d)sinf

B ’:T.S'caszﬁ' +(f + d)cos8

xc %Scatzﬁ' + (f + d)cotf

X D. %Stanzﬁ' + (f + d)tanf

Question ID : 1034359107
Status : Answered
Chosen Option: B

Q.95 Liquid limit of the soil is determined in laboratory using ________.
Ans X A.unconfined compression test method

4" B. cone penetration method
#5 C.slump test method

25 D. hydrometer method

Question ID : 1034359110
Status : Answered
Chosen Option : A

Q.96 fa=fefEda d @ 19 7ar1 @1 U UahIR §, forad given @fvrst afenifietarge o srafdes
ufasra gar g?

Ans X A SeUsT (Laterite)
< B. &g (Kankar)

< C.gH¥ (Humus)
«# D. dTI18T (Bentonite)

Question ID : 1034359108
Status : Answered
Chosen Option : D

Q.97 fermifar aafarfAar (CBR) udtaror &, Q@ w19 fUwe o1, forge dawer ______ aarg
areAT gar g, SugT______ &Y A1E &R A d S & fore farar sTar g1

Ans  &# A.50 mm;1.25 mm/minute
25 B.40 mm; 1.0 mm/minute
#< C.30 mm; 1.75 mm/minute

#< D.60 mm; 1.5 mm/minute

Question ID : 1034359143
Status : Answered
Chosen Option: C




Ans

Q.98 fam=faf@a snepfa d vefra urwr-varg 6 R & forg forelt gt argy &t Tw=a fHsar (m)
T RfAQI Sgi d a3 varg & 1g70E, D UTsy o1 =1y 8, 3R R ursy R fBsur 1

o A m=E{
28
R (
T
R (
XC m—ﬁq‘
B
5 D. m:ﬁt

Question ID : 1034359126
Status : Answered
Chosen Option : A

Ans

& A.30m
25 B.40m
X C.20m
X D.50m

Q.99 1S:4111 (M1 1) — 1986 & AJHR, VX e & forg =g Arefia Tu & arw foraT 47 § ofir
s wwrs ar fAdteror 3 forg Sa=r a8t s weRar 8, & A9gtel & i hir srfderaw g

gi=ft =nfgq

Question ID : 1034359149

Status : Answered

Chosen Option : A

Ans

25 A.hyperbola

Q.100 The most widely used transition curve for small deviation angles for simplicity in
setting out is:

#< B.lemniscate curve

#< C. cubic spiral
«# D. cubic parabola

Question ID : 1034359101

Status : Answered

Chosen Option : D




o AT e @2
Ans o A TR
< B.%age
X C.3Jamge
2< D.3ege

Q.101 i-Fferaz 3 urqawr-ufshar & 19 997 are gy ARl § & e arghferan fAfedke’ &t

Question ID : 1034359086
Status : Answered
Chosen Option : A

Q.102 f&u 7y fe A wefia uwr-3@= v Iuaor fY uganr_ fifsgl

= =

Ans X A usfndea
25 B.SWR

o C.EuA<s
25 D. fBwR

Question ID : 1034359079
Status : Answered
Chosen Option : A

Q.103 eafza & gragifore geidT 39 Uk g &Y 7 &:
Ans o TETS & T T STel SaNT & 718 FaAT
 TETEA & SAIE T ST SIRT Tl T 978 FaAl
o TS & 2ATFE 9T FAT
- T T A SIS T TS

TETEA F 20T I 3TeTee] HTAAT
aaﬁsﬂﬂ:aﬂﬁzqrmiﬁ-‘raﬁméﬁ‘l
o T W aEdiaes &9 § FIe arel 3o &1 H1d
. TETEA T AT [T T S T HIAT

Question ID : 1034359121
Status : Answered
Chosen Option : B




Q.104 freft sadraRR atY & forg arat=aar (8s) H &Y Ara d Ffe = faesta Q @ zar d@eu 8?
Ans d@ 3dH
FA — =

Q0 2H
XB,Q=E
0 H
XC,QZM_H
Q0 2H
xo 20 _
20 H

Question ID : 1034359127
Status : Answered
Chosen Option : A

Q.105 feRTa+ gf® (stopping sight) it g& ar o1 it geaar ot ATg= & Ig2a | IRC A e & i@l
FTRAFES___ sRag A Fadasm RN aagd______ & Tq A uarfaa i g1

Ans X A.1.7m;0.35m
" B.1.2m;0.15m
25 C.1.0m;05m
X D.1.5m;0.25m

Question ID : 1034359142
Status : Answered
Chosen Option : B

Q.106 chehie &t Ferrdar st ______ T I Sh¥ch ATYT SITAT B
Ans X A. fa&e Iuaor

Z< B. a7 R Iuakzor
" C. WU &1 IuehoT

2< D. & T a1 URTRICT ITeh 0T

Question ID : 1034359170
Status : Answered
Chosen Option: C

Q.107 f=forf@a syt 7 @ geais 6@ a8t e o1 wa= fifsg
1. ge-%e, &g 311 & wirur Hufw & gea | g7 areft «itfasw a1 &t stangea= gt san 21
2. fa<araA, Sherd, 9= T, IuAEr a1 71T | JEe1d & hiRor Sufw & g J giA aredt g &t
YA gl ST gl

Ans o A T FUTTI R
X B.AUT2Tgg 3R 1 s gl
X C.HhuT1 Tgg 3R 2 s gl
< D.3H YT S & |

Question ID : 1034359093
Status : Answered
Chosen Option : A




Q.108 freft f¥reng ufats T &1 e wHis &7 1 a1 gRaR &1 FY gt FAis 84, gad FHis
&3 1 80% &1 Wk & forg =g i wg=1a1 60% 81 afy =dw & forg It 1200 gRav/gdw
g, @ =@ & farw smaas veng /T giar anfae?

Ans & A 40 cumec
#< B. 35 cumec
< C.46 cumec
#< D. 56 cumec

Question ID : 1034359135
Status : Answered
Chosen Option: D

Q.109 3TUR 4 m 3R $=1s 3 m areht forelt awfgarg Prysme we = fafie v 0.8 ara dw &
seraa getar war g, st fr fr=faf@a snegfa J vefila 81 e uz e g1a fra=r gim?

o @ruT g= 10 m/s2 g
by 3w At

Free oil surface

4111—!'! +

Ans X A.35kN
% B.96 kN
2 C.68kN
& D. 48 kN

Question ID : 1034359125
Status : Answered
Chosen Option : D

Q.110 16 mm 3{iR 10 mm #HieTE ars! &t wel @l 39 V 9¢ Ic8 ZIRT SIS ST 81 9g Sits 280 kN
99 g & AT &1 o RIRUTAA, USTT Y ST Gehet areft Aex Y w1 Faard 170 mm ot ag

STTa gQ foh aia A 92 3es & siaw 1A ufaas 150 N/mm? &, e Y woiget 1 sreher
I

Ans X A.167 kN
7< B. 408 kN
& C.255kN
7 D.332kN

Question ID : 1034359181
Status : Answered
Chosen Option : B




